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1. Consider the shaded region R, in the first quadrant, bounded by y=2 +_)2‘_ and y=4—e*?
CALCULATORS PERMITTED

A. Write, but do not evaluate an expression involving one or more integrals used to find the area
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B. Find the volume of the solid that results in revolving region R about the line y =5 .
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C. Write, but do not evaluate an expression involving one or more integrals used to find the
volume of the solid that results in revolving region R about the line y =1.
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1. Consider the shaded region R, in the first quadrant, bounded by y =2 +% and y=4 -,
CALCULATORS PERMITTED

D. The region R is the base of a solid. For each x the cross section of the solid taken perpendicular to the
x-axis is a rectangle whose base lies in R and whose height is twice its base. Write, but do not evaluate, an
expression involving one or more integrals used to find the volume of the solid.
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E. The region R is the base of a solid. For each y the cross section of the solid taken perpendicular to the
y-axis is a square whose base lies in R. Write, but do not evaluate, an expression involving one or more
integrals used to find the volume of the solid.
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F. Write, but do not evaluate, an expression involving one or more integrals used to find the perimeter of
the region R.
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2. Consider the function f(x)= 0.5x .
axis.

shown in the diagram above. Find the area bounded by f(x) and the x-
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3. (NO CALCULATOR) Find the length of the curve y = ]'\/ £ —1di from =110 x=2.
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4. (NO CALCULATOR) Consider the graph of 4 given by h(x) = e * for 0 < x < .

Let R be the unbounded region in the first quadrant below the graph of 4. Find the volume of the
solid generated when R is revolved about the y-axis.
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5. (NO CALCULATOR)

Find the area of the region in the first quadrant that lies under the curve y = —
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converges or diverges. Show work.
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6. (NC) Use the integral test to determine whether ; olon




